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Strategy for Evaluating ‘ tan”x sec"x dx

« . y \ \2
(a) If the power of secant is even (n = 2k, k = 2.), saye.a fa.ctor of secxand
use sec’x = | + tan’x to express the remaining factors 1n terms of tan yx:
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J tan”x sec*x dx = | tan™x (sec’x)" ' secx dx

= | tan”x (1 + tan’*x)*"'sec’x dx

Then substitute # = tan x.

(b) If the power of tangent is odd (m = 2k + 1), save a factor of sec x tan x
and use tan°x = sec’x — 1 to express the remaining factors in terms of
sec X:
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f tan*"'x sec”x dx = | (tan’x)* sec” 'x sec x tan x dx
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2 k -
= | (sec’x — 1)F sec" 'x sec x tan x dx

Then substitute u = sec x.
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